Introduction: II


Since the first introduction, a lot more concerning microeconomics has been covered in this course. Six more chapters have been covered and a lot more information has been given. This includes externalities, public goods and common resources, consumer choice and demand, production and cost, and perfect competition. 

An externality is a benefit or a cist that comes about from production that falls on someone other than the producer. It can also be defined as a cost or a benefit that arises from consumption that falls on someone other than the consumer, not limited to the producer. Concerning externalities, the range of them, how to classify them, and examples of externalities was also covered. 

First and foremost, and externality can occur from either a production activity or a consumption activity. Second, it can either be a negative externality or a positive externality. A negative externality imposes an external cost, and a positive externality provides and external advantage. Concerning negative and positive, there can be four types of externalities: negative production externalities, positive production externalities, negative consumption externalities, and positive consumption externalities.

An example of a negative production externality is as follows. Lets say that a sports tournament is held somewhere where there isn’t typically a lot of ruckus and activity going on, lets say in the middle of Wyoming. The players, spectators, and television viewers from all around the world now share a negative production externality that many typically many New Yorkers experience every day – the noise of airplanes taking off from an airport. Aircraft noise imposes a large cost on millions of people who live under the flight paths to airports in most major cities. Pollution is a clearer example of what a negative production externality is. 

A positive production externality is a little harder to explain. Lets say that to produce orange blossom honey, a honey company locates beehives next to an orange orchard. This causes the honeybees to collect pollen and nectar from the orange blossoms to make honey, since they are the closest source available. At the same time, the honeybees then transfer pollen between the blossoms, which help fertilize them. The positive production externalities present in this situation is that the company gets a positive production externality from the owner of the orange orchard, and the orange grower gets a positive externality from the company. 

Negative consumption externalities are a source of irritation for most of the population. Someone who smokes in a confined space creates fumes that a lot of people find disgusting and also create a health risk. This is an example of a negative consumption externality that most people deal with by creating laws to where smoking in a small proximity to other people is banned, such as smoking on an airplane. 

A positive consumption externality can be explained using the flue vaccine as an example. When someone gets a vaccination for the flu, they lower their risk of being infected during flu season. However, if someone avoids the flu, then their neighbor or people close to them that didn’t get vaccinated, have a better chance of remaining healthy. These flue vaccinations generate a positive consumption externality. Another major example of a positive consumption externality is education. 

A private cost of production is a cost that is a cost that belongs to the producer of a good or service that invented it or, “gave birth to it.” A marginal cost is the cost of producing an additional unit of a good or service. Therefore, a marginal private cost is the cost of production an additional unity of a good or service that belongs to the producer of that good or service. 

A marginal external cost is the cost of producing an additional unit of a good or service that affects people other than the producer.  A marginal social cost is the marginal cost incurred by the entire population, “the best thing we give up to get something.”

There are many factors in explaining about public goods and common resources. The term excludable applies to when a good, a service, or a resource is it if it is possible to prevent a person from enjoying its benefits. When a good, a service, or a resource is rival is its consumption by a person goes down if its consumed by other people in the population. On the other hand, a good, a service, or a resource is nonrival if its use by one person does not make the quantity less for someone else.

A private good is considered both rival and excludable. A private good can only be used by one person at a time and only by the person who owns it or has bought it. An example of a private good is a can of Sprite. Only a single person can enjoy the benefits of a single can of Sprite, and everyone except the person who bought it is barred from enjoying and consuming it.      

On the contrary, a public good is both nonrival and nonexcludable, the exact opposite of a private good. A public good can cone consumed by everyone, and no one can be excluded from enjoying the good’s benefits. The best example of a public good is the national defense. Everyone gets to enjoy the benefits of the national defense system and no one can be excluded form receiving these benefits.

A natural monopoly is a nonrival but excludable. A natural monopoly is a situation in which one firm is able to produce a good or a service at a lower cost than two or more other firms can. Examples of this include the Internet and cable television. 

A budget line describes the limits to consumption possibilities that depend on individual’s budgets in a population and the prices of goods and services. Another name for an opportunity cost is a relative price. A relative price is the price of one good in terms of another good. If the price of a packet of candy is $0.50 and the price of a bottle of water is $1, then the relative price of water is two packets per bottle. When the price of a good plotted on the x-axis falls, with all other things remaining the same, the budget line becomes less steep, and then the opportunity cost and relative price of the good on the x-axis falls too. 

A utility is considered the satisfaction or the benefit a person receives from the consumption of a good or service. In everyday language, the term “utility” really means “usefulness.” In the world of economics, it is an index of how much a person wants something. Utility is a bit like temperature in that they are both useful but abstract concepts measured in random units.

Total utility is the total benefit that a person gets from the consumption of a good or service which. The difference between utility and total utility is that total utility typically increases as the quantity consumed of a good increases as well – more consumption generally gives more total utility. 

Marginal utility is the total change in total utility that results from a one-unit increase in the quantity of a good consumed. Diminishing marginal utility is the general tendency for marginal utility to decrease as the quantity of a good consumed increases as well. 

To see why marginal utility diminishes, there is a rather good example to explain it. If someone offers someone a bottle of water and they have been studying all day and have had nothing to drink, then the marginal utility that the person that received the water gets is large. That bottle of water for that person could provide about 15 units of utility. In another situation, if a person has been on a water-drinking binge, then when offered a bottle of water they perhaps accept it, sipping it rather slowly, maybe even denying that offer. In this case, the bottle of water could only provide about 2 units of utility. 

An indifference curve is a line on a graph that shows combinations of goods among which a consumer is indifferent. The marginal rate of substitution is the rate at which a person will give up a good measured on the y-axis to get more of a good on the x-axis and at the same time, remain on the same indifference curve.

Diminishing marginal rate of substitution is the general tendency for the marginal rate of substitution to decrease as the consumer moves down along the indifference curve, increasing consumption of that a good measured on the x-axis and decreasing consumption of the good measured on the y-axis. 

If a group of entrepreneurs were asked what they are trying to achieve, they would give many different answers. Some would talk about trying to make a high-quality product while others would just go on about trying to achieve business growth. All of these goals could perhaps be pursued but they are not the fundamental goal; they are a means to a deeper goal. 

The amount that a firm pays to attract resources from their best alternative use is either an explicit cost or an implicit cost. An explicit cost, also known as an opportunity cost, is a cost paid in money. The wages that someone pays in labor, in interest someone pays the banks, and someone’s expenditures on groceries are all considered explicit costs. On the other hand, an implicit cost is an opportunity cost acquired by a firm when it uses a factor of production for which it does not make a direct money payment. There are two categories of implicit costs: economic depreciation and the cost of the firm owner’s resources.

Economic depreciation is the opportunity cost of the firm using capital that it owns. Normal profit is the return to entrepreneurship. Normal profit is part of a firm’s opportunity cost because it is the cost of not running another firm. 

A firm’s economic profit usually equals total revenue minus total cost. Total revenue is the amount revived from the sale of the product. It is the price of the output multiplied by the quantity of it sold. Total cost is the sum of the explicit costs and the implicit consists and is considered the opportunity cost of production.

To study in depth about the relationship between a firm’s output decision making and its costs can be distinguished between two decision time frames. These two decision time frames are the short run and the long run. The short run is the time frame in which the quantities of some resources are fixed. In the short run, a firm can usually changed the quantity of labor it uses by not its technology and quantity of capital. The long run is the time frame in which the quantities of all resources can be varied. Long run decisions are definitely not easy to reverse.   

To increase the output of a fixed plant, a firm must increase the quantity of labor it employs. This relationship between output and the quantity of labor employed can be described by using three related concepts. These three related concepts are: total product, marginal product, and average product. 

Total product is the total quantity of a good produced in a give period. Total product is an output rate, which means that the number of units produced per unit of time (that could mean per hour, day, or week).

Marginal product is the change in total product that results from a one-unity increase in the quantity of labor employed. It tells people the contribution to total product of adding one additional worker. When the quantity of labor increases by more (or less) than one worker, marginal product can be calculated as so: Marginal product = Change in total product ( Change in quantity labor. 

I could go on and on about what I’ve learned since the first introduction, but then it wouldn’t really be considered an introduction now would it? More concerning Microeconomics will be explained through out this book, from my extensive learning through several video’s watched throughout this course. 

